

# COMPOSITIO MATHEMATICA

TIM CARROLL

A. A. GIOIA

## **Roots of multiplicative functions**

*Compositio Mathematica*, tome 65, n° 3 (1988), p. 349-358

[http://www.numdam.org/item?id=CM\\_1988\\_\\_65\\_3\\_349\\_0](http://www.numdam.org/item?id=CM_1988__65_3_349_0)

© Foundation Compositio Mathematica, 1988, tous droits réservés.

L'accès aux archives de la revue « Compositio Mathematica » (<http://http://www.compositio.nl/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

Article numérisé dans le cadre du programme  
Numérisation de documents anciens mathématiques

<http://www.numdam.org/>

## Roots of multiplicative functions

TIM CARROLL<sup>1</sup> & A.A. GIOIA<sup>2</sup>

<sup>1</sup>Eastern Michigan University, Department of Mathematics, Ypsilanti, MI 48197, USA;

<sup>2</sup>Western Michigan University, Department of Mathematics and Statistics, Kalamazoo, MI 49008-3899, USA

Received 13 May 1987; accepted 28 September 1987

**Abstract.** An arithmetic function is called *linear* if it is completely multiplicative, and *quadratic* if it is the Dirichlet convolution of two linear functions. If  $g$  is an arithmetic function then the  $n$ -th root of  $g$ , denoted  $g^{1/n}$ , is a function  $f$  such that  $g = f \cdot \cdot \cdot f$  ( $n$  factors), where “ $\cdot \cdot \cdot$ ” denotes Dirichlet convolution. In this paper, explicit formulas are given for the  $n$ -th roots of linear and quadratic functions, and for the inverses of these roots.

If  $m$  and  $n$  are positive integers, then  $g^{m/n}$  is defined to be the  $m$ -th power (i.e.  $m$  factors in the Dirichlet convolution) of  $g^{1/n}$ . Formulas are given for these “rational roots” of linear functions.

### 1. Introduction

An arithmetic function is any mapping  $f$  from the positive integers into a subset of the complex numbers. An arithmetic function  $f$  which is not identically zero is called multiplicative if

$$f(mn) = f(m)f(n) \quad \text{whenever} \quad (m, n) = 1,$$

and it is called linear if

$$f(mn) = f(m)f(n) \quad \text{for all} \quad m \text{ and } n.$$

The Dirichlet convolution,  $f * g$ , of two arithmetic functions  $f$  and  $g$  is defined by the relation

$$f * g(n) = \sum_{d|n} f(d)g(n/d).$$

It is well-known that the set of all multiplicative functions, under the operation  $*$ , is an abelian group:  $E(n) = [1/n]$  is the identity element and  $f^{-1}$

defined by

$$f^{-1}(1) = 1/f(1)$$

$$f^{-1}(n) = \frac{-1}{f(1)} \sum_{\substack{d|n \\ d>1}} f(d)f^{-1}(n/d), \quad n > 1$$

is the inverse of  $f$ .

While the set of all linear functions is not a group, note that  $f$  is linear iff

$$f^{-1}(p^a) = 0$$

for all primes  $p$  and integers  $a > 1$ ; and hence a linear function is completely determined by its values at  $f(p)$  for each prime  $p$  (see [1]). This statement generalizes to:  $f$  is the convolution of  $n$  linear functions iff

$$f^{-1}(p^a) = 0$$

for all primes  $p$  and all integers  $a > n$ ; and hence such a function is completely determined by  $f(p), f(p^2), \dots, f(p^n)$  for each prime  $p$  (see [2]).

By the notation  $f^r$ ,  $r$  a positive integer, we mean  $r$  copies of  $f$  under Dirichlet convolution. rearick [3] showed that if  $f$  is any multiplicative function and  $r$  is any integer, then there exists a unique multiplicative function  $g$  such that  $g^r = f$ ; in fact he proves this result for  $r$  a real number and  $g$  defined in terms of his exponential and logarithmic operators. For  $r$  a positive integer and  $g^r = f$ ,  $g$  is called the  $r$ th root of  $f$ . Kemp [4] considered roots of arithmetic functions of more than one variable.

In this paper we are interested in determining explicitly the roots of linear and quadratic functions (a quadratic function is the Dirichlet convolution of two linear functions) in terms of the functions themselves.

## 2. Square roots

By the square root of a multiplicative function  $f$  we mean the unique multiplicative function that is the solution to the functional equation  $g^2 = f$ . We will write  $g = f^{1/2} = \sqrt{f}$ .

**THEOREM 2.1.** *If  $f$  is linear, then for  $F = f^{1/2}$*

$$F(p^n) = \frac{1}{2^{2n}} \binom{2n}{n} f(p^n), \tag{1}$$

for  $p$  prime and  $n$  a non-negative integer.

*Proof.* By induction on  $n$ .

$$F(1) = 1 = \frac{1}{2^0} \binom{0}{0} f(p^0).$$

Assume

$$F(p^k) = \frac{1}{2^{2k}} \binom{2k}{k} f(p^k)$$

for  $p$  a prime and  $0 \leq k < n$ .

$$\begin{aligned} f(p^n) &= (f(p))^n = F * F(p^n) = \sum_{i=0}^n F(p^i) F(p^{n-i}) \\ &= 2F(p^n) + \sum_{i=1}^{n-1} \frac{1}{2^{2i}} \binom{2i}{i} f(p^i) \frac{1}{2^{2(n-i)}} \binom{2(n-i)}{n-i} f(p^{n-i}) \\ &= 2F(p^n) + \frac{(f(p))^n}{2^{2n}} \sum_{i=1}^{n-1} \binom{2i}{i} \binom{2(n-i)}{n-i} \\ &= 2F(p^n) + \frac{(f(p))^n}{2^{2n}} \sum_{i=0}^n \binom{2i}{i} \binom{2(n-i)}{n-i} - \frac{2(f(p))^n}{2^{2n}} \binom{2n}{n}. \end{aligned}$$

Since

$$\sum_{i=0}^n \binom{2i}{i} \binom{2(n-i)}{n-i} = 2^{2n},$$

simplification yields equation (1).

For  $N = p_1^{a_1} p_2^{a_2} \dots p_r^{a_r}$ ,  $p_i$  primes and  $a_i$  positive integers, let  $\varrho(N) = a_1 + a_2 + \dots + a_r$  and

$$B(N) = \prod_{i=1}^N \binom{2a_i}{a_i}.$$

**COROLLARY 2.2.** *For  $f$  a linear function,  $F$  the square root of  $f$ , and  $N$  a positive integer,*

$$F(N) = \frac{B(N)f(N)}{2^{2\varrho(N)}}.$$

**COROLLARY 2.3.** *For  $n$  a positive integer,*

$$2^{2\varrho(n)} = \sum_{d|n} B(d)B\left(\frac{n}{d}\right) = B * B(n). \tag{2}$$

*Proof.* Let  $f$  be a linear function.

$$f(n) = f^{1/2} * f^{1/2}(n) = \sum_{d|n} (f^{1/2}(d)f^{1/2}(n/d)).$$

So by Corollary 2.2,

$$f(n) = \sum_{d|n} \frac{B(d)f(d)B(n/d)f(n/d)}{2^{2\varrho(d)}2^{2\varrho(n/d)}}.$$

Now,  $f$  is linear and  $\varrho(d) + \varrho(n/d) = \varrho(n)$ , so,

$$f(n) = \frac{f(n)}{2^{2\varrho(n)}} \sum_{d|n} B(d)B(n/d),$$

and (2) follows immediately.

Theorem 2.1 generalizes to

**THEOREM 2.4.** *If  $f$  is a quadratic function (say  $f = g * h$ ,  $g$  and  $h$  linear) and  $F$  is the square root of  $f$ , then for  $p$  a prime and  $n$  a positive integer:*

$$F(p^n) = \frac{1}{2^{2n}} \sum_{j=0}^n \binom{2j}{j} \binom{2(n-j)}{n-j} g(p^j)h(p^{n-j}). \tag{3}$$

*Proof.*

$$F * F = f = g * h = (g^{1/2} * g^{1/2}) * (h^{1/2} * h^{1/2}) = (g^{1/2} * h^{1/2}) * (g^{1/2} * h^{1/2}).$$

Rearick's result about the uniqueness of roots implies  $F = g^{1/2} * h^{1/2}$ . Hence, by Theorem 2.1,

$$\begin{aligned} F(p^n) &= \sum_{j=0}^n \frac{1}{2^{2j}} \binom{2j}{j} g(p^j) \frac{1}{2^{2(n-j)}} \binom{2(n-j)}{n-j} h(p^{n-j}) \\ &= \frac{1}{2^{2n}} \sum_{j=0}^n \binom{2j}{j} \binom{2(n-j)}{n-j} g(p^j) h(p^{n-j}). \end{aligned}$$

Using the notation  $\iota_s(n) = n^s$ ,  $d(n) = \iota_0 * \iota_0(n)$  (the number of divisors of  $n$ ) and  $\sigma(n) = \iota_1 * \iota_0(n)$  (the sum of divisors of  $n$ ) are quadratic functions. It is immediate that  $d^{1/2}(n) = 1$  for all  $n$  and

$$\sigma^{1/2}(p^k) = \frac{1}{2^{2k}} \sum_{j=0}^k \binom{2j}{j} \binom{2(k-j)}{k-j} p^j.$$

**THEOREM 2.5.** *For  $f$  a linear function,  $p$  a prime and  $n$  a non-negative integer,*

$$f^{-1/2}(p^n) = \frac{-1}{2^{2n}(2n-1)} \binom{2n}{n} f(p^n). \tag{4}$$

*Proof.* For  $n = 0$ ,  $f^{-1/2}(1) = 1$ .

Assume equation (4) holds for  $0 \leq k < n$ .

$$0 = f^{-1/2} * f^{1/2}(p^n) = \sum_{k=0}^n f^{-1/2}(p^k) f^{1/2}(p^{n-k}).$$

So,

$$\begin{aligned} f^{-1/2}(p^n) &= - \sum_{k=0}^{n-1} f^{-1/2}(p^k) f^{1/2}(p^{n-k}) \\ &= - \sum_{k=0}^{n-1} \frac{1}{2^{2k}} \binom{-1}{2k-1} \binom{2k}{k} \frac{1}{2^{2(n-k)}} \binom{2(n-k)}{n-k} f(p^n) \\ &= \frac{1}{2^{2n}} \sum_{k=0}^{n-1} \frac{1}{(2k-1)} \binom{2k}{k} \binom{2(n-k)}{n-k} f(p^n) \end{aligned}$$

$$\begin{aligned}
 &= \frac{f(p^n)}{2^{2n}} \sum_{k=0}^n \frac{1}{(2k-1)} \binom{2k}{k} \binom{2(n-k)}{n-k} \\
 &\quad + \frac{(-1)}{2^{2n}} \frac{1}{(2n-1)} \binom{2n}{n} f(p^n) \\
 &= \frac{-1}{2^{2n}(2n-1)} \binom{2n}{n} f(p^n),
 \end{aligned}$$

since

$$\sum_{k=0}^n \frac{1}{(2k-1)} \binom{2k}{k} \binom{2(n-k)}{n-k} = 0 \quad \text{for } n \geq 1.$$

The analogous result for quadratic functions is:

**THEOREM 2.6.** *If  $f = g * h$  ( $g$  and  $h$  linear) and  $F = f^{1/2}$ , then for  $p$  a prime and  $n$  a positive integer,*

$$\begin{aligned}
 F^{-1}(p^n) &= \frac{1}{2^{2n}} \sum_{j=0}^n \frac{1}{(2j-1)(2(n-j)-1)} \\
 &\quad \times \binom{2j}{j} \binom{2(n-j)}{n-j} g(p^j)h(p^{n-j}). \tag{5}
 \end{aligned}$$

Functions that are the Dirichlet convolution of a linear function and the inverse of a linear function are called totient functions. Euler’s  $\phi$  function is the most famous totient. Combining Theorems 2.1 and 2.6 we can easily prove:

**THEOREM 2.7.** *If  $f$  is a totient, say  $f = g * h^{-1}$  ( $g$  and  $h$  linear), then for  $p$  a prime and  $n$  a positive integer, the square root of  $f$  is given by:*

$$F(p^n) = \frac{-1}{2^{2n}} \sum_{j=0}^n \frac{1}{2(n-j)-1} \binom{2j}{j} \binom{2(n-j)}{n-j} g(p^j)h(p^{n-j}). \tag{6}$$

Since  $\phi(p^n) = \iota_1 * \iota_0^{-1}(p^n) = (p - 1)p^{n-1}$ ,

$$\phi^{1/2}(p^n) = \frac{-1}{2^{2n}} \sum_{j=0}^n \frac{1}{(2(n-j)-1)} \binom{2j}{j} \binom{2(n-j)}{n-j} p^j. \tag{7}$$

Examine (7) to note that

$$\phi^{1/2}(p^n) = \frac{(p-1)}{2^{2n}} P_n(p)$$

where  $P_n(x)$  is a polynomial.

### 3. Rational roots of linear functions

In this section the results of Section 2 are generalized to rational roots of linear functions.

**THEOREM 3.1.** *If  $f$  is linear and  $F = f^{1/t}$  for a positive integer  $t$ , then for  $p$  a prime and  $n$  a positive integer,*

$$F(p^n) = \frac{(t+1)(2t+1) \dots ((n-1)t+1)}{t^n n!} f(p^n). \tag{8}$$

*Proof.* Note that  $F(1) = 1 = f(1)$ , and  $F(p) = (1/t)f(p)$ . Now by induction, it is easy to see that  $F(p^n) = K(t; n)f(p^n)$ , where  $K(t; n)$  is a rational number independent of  $p$ . Defining  $K(t; 0) = 1$ , we need to show  $K(t; n)$  is the coefficient of  $f(p^n)$  in equation (8).

By the definition of Dirichlet convolution,

$$\begin{aligned} f(p^n) &= \sum F(p^{i_1})F(p^{i_2}) \cdots F(p^{i_t}) \\ &= \sum K(t; i_1)f(p^{i_1}) \cdots K(t; i_t)f(p^{i_t}), \end{aligned}$$

where the summation is over all choices of non-negative  $i_1, i_2, \dots, i_t$  such that  $i_1 + i_2 + \dots + i_t = n$ . Moreover, since  $f$  is linear, we must have

$$\sum_{\substack{i_v \geq 0 \\ i_1 + \dots + i_t = n}} K(t; i_1) \cdots K(t; i_t) = 1. \tag{9}$$

As noted at the beginning of this proof,  $K(t; 1) = 1/t$ . This also follows directly from (8) with  $n = 1$ .

Now consider the McLaurin series:

$$(1 - X)^{-1/t} = \sum_{n=0}^{\infty} A_n X^n, \tag{10}$$

where

$$A_0 = 1, A_1 = \frac{1}{t}, \dots, A_n = \frac{(1/t + n - 1)}{n} A_{n-1}.$$

Writing  $A_n$  explicitly, we obtain

$$A_n = \frac{(t + 1) \cdot \dots \cdot ((n - 1)t + 1)}{t^n \cdot n!}.$$

Raising both sides of (10) to the  $t$ -th power,

$$(1 - X)^{-1} = \sum_{n=0}^{\infty} C_n X^n$$

where

$$C_n = \sum A_{i_1} A_{i_2} \cdot \dots \cdot A_{i_t},$$

where the summation is over all choices of  $i_1, \dots, i_t$  such that  $i_1 + \dots + i_t = n$ .

Now the unique McLaurin series for  $(1 - X)^{-1}$  is  $\sum_{n=0}^{\infty} X^n$ , i.e.,  $C_n = 1$  for all  $n \geq 0$ . Thus,  $1 = \sum A_{i_1} A_{i_2} \cdot \dots \cdot A_{i_t}$  where  $A_0 = 1$  and  $A_1 = 1/t$ . This is the same recursive relation as (9) with the same initial conditions and hence (8) is proven.

We now wish to determine  $f^{s/t}(p^n)$  in terms of  $f(p^n)$  where  $f$  is linear. As a special case of the following ( $f^s(n) = n^s$ ) see Beumer [5].

**THEOREM 3.2.** *If  $f$  is a linear function and  $s$  is a positive integer, then*

$$f^s(p^n) = \binom{n + s - 1}{s - 1} f(p^n). \tag{11}$$

*Proof.* By induction on  $s$ . Immediate for  $s = 1$ . Assume (11) holds for  $1 \leq k < s$ .

$$\begin{aligned}
 f^s(p^n) &= \sum_{i=0}^n f^{s-1}(p^i)f(p^{n-i}) \\
 &= \sum_{i=0}^n \binom{i+s-2}{s-2} f(p^i)f(p^{n-i}) \\
 &= f(p^n) \sum_{i=0}^n \binom{i+s-2}{s-2} \\
 &= \binom{n+s-1}{s-1} f(p^n).
 \end{aligned}$$

Noting that

$$\binom{n+s-1}{s-1} = \frac{\prod_{j=1}^{s-1} (n+j)}{(s-1)!}$$

leads us to

**THEOREM 3.3.** *If  $f$  is linear,  $s, t, n$  are positive integers and  $p$  is a prime, then*

$$f^{s/t}(p^n) = \frac{\prod_{j=0}^{n-1} (jt+s)}{n!t^n} f(p^n). \tag{12}$$

*Proof.* Since  $f^s(p^n) = \binom{n+s-1}{s-1} f(p^n)$ , we have

$$F(p^n) = K(t, s; n)f(p^n).$$

Again as in Theorem 3.1, examine

$$(1 - X)^{-s/t} = \sum_{n=0}^{\infty} A_n X^n$$

with

$$A_0 = 1, A_1 = \frac{s}{t}, \dots, A_n = \frac{s(s+t) \cdots (s+(n-1)t)}{n!t^n}.$$

Raising each side to the  $t$ -th power, we obtain

$$(1 - X)^{-s} = \sum_{n=0}^{\infty} C_n X^n;$$

$$C_n = \sum_{\substack{\Sigma i_j = n \\ i_j \geq 0}} A_{i_1} \cdots A_{i_r}.$$

Now the McLaurin series expansion of

$$(1 - X)^{-s} \text{ is } \sum_{n=0}^{\infty} \binom{s-1+n}{n} X^n$$

and hence

$$C_n = \binom{s-1+n}{n} = \sum A_{i_1} \cdots A_{i_r}$$

where  $A_j = 1 = K(t, s; 0)$  and  $A_1 = s/t = K(t, s; 1)$  and hence  $A_n = K(t, s; n)$  for all positive  $n$ .

## References

1. T.N. Apostol, Some properties of completely multiplicative arithmetic functions, *Amer. Math. Monthly* 78 (1971) 266–271.
2. T.B. Carroll and A.A. Gioia, On a subgroup of the group of multiplicative functions, *J. Austral. Math. Soc.* 20 (Series A) (1975) 348–358.
3. D. Rearick, Operators on algebras of arithmetic functions, *Duke Math. J.* 35 (1968) 761–766.
4. P. Kemp,  $N$ th roots of arithmetical functions, *J. Nat. Sciences and Math.* 17 (1977) no. 1, 27–30.
5. M. Beumer, The arithmetical function  $\tau_r(n)$ , *Amer. Math. Monthly* 69 (1962) 777–781.